=N =

AX T L

1. T %4 W IV N BB R A L 20E T 5

2. i T35 T KN rEeT53 — 1

3. T 1 BIGRERE RS ST 44 2H  18HET

4 T HERR ML U0E (B AL OUE, £ B9 L O R%

bRCICHED AR AR i T — o Bk i T — X




RN N BRI A L s T8 TEMRS RS P RR

e ah (LH%) A 54,693,100 [

T il ¥ 4 49,721,000 Ay

THE Bl S A 24 %R & 4,972,100 Ay




& W FME/NERBERR M LBELE No.
% b1 i 7 =  Hx i 28 fi
[ERERE Sy
I| BT 1] 15,450,217
| EXRHE T 1] K 4,397,605
I HARES s T 1] 15,933,511
[ERENE-X s 35,781,333
/\@/\
1| i@k 1 &K 1,516,842
0| BGEEE 1 = 6,202,496
I —fEeE 1 =K 6,220,595
B Et 13,939,933
at 49,721,266
A% TH AT 49,721,000
T RS 4 %A 4,972,100
wef At (L34%) 54,693,100




£ " FNENERBERE M LRETE No. 2
% L i = = B i %8 fi

I |BEISE
1 |E8REE T 1 = 699,388
2 |BRKETHE 1 =X 2,348,114
3 |NEETF 1 = 5,475,299
4 |BEKETHE 1 =X 177,995
5 |2=ybEOZFOM T 5 1 K 4,403,995
6 |- 1 =X 2,345,426

&t 15,450,217




£ By N INFARBE R A L g TR [ PER] No.
4 g T L2 e AL B & i
O |H=MibAL s T
1 |[EATAE 1-1D) AT 7R 1 =X 2,684,770
1-2)z o My 1 = 477,160
2 |FEECERR 2- 1MV ZEFEH 1 K 507,750
3 |BAAD - NIRRT ER R 1 =& 165,000
4 K SRR 4-1) B Bk S zn 1 K 32,130
5 |FENBELERRE 1 = 530,795
&t 4,397,605




B2M FNENEREERRMLIETE No. 1

& L7 i) = H 2 Ha B O{f € & fis

I | FeehRER I L

D |[Mdod

1A Bkl L2 1 K 5,065,499

2 |Fa7KkEx(E L 1 =K 2,321,397

3 |HEKER i L& 1 K 5,144,112

4 AR L5 1 K 1,082,490

5 |fiELE 1 K 1,968,033

6 |F A LF IR 351,980

INEE 15,933,511




